EXAMPLE 29.25° C

CONVERT:


theTemp = theTemp >> 1

= 29

(00111011)

(00011101)


theTemp = theTemp * 100

= 2900

29 * 100


theTemp = theTemp – 25

= 2875

2900 - 25


cRem
  = slope
 - cRem


= 8

16 - 8


cRem
  = cRem * 100

= 800

8 * 100


cRem      = cRem / slope

= 50

800 / 16


theTemp = theTemp + cRem
= 2925

2875 + 50


theTemp = theTemp */ $01CC
= 5255

Explained below


theTemp = theTemp + 3200
= 8455

5255 + 3200


theTemp = theTemp / 100

= 84

8455 / 100 = 84.55 (drop decimal)

cRem      = __WREMAINDER
= 55

Remainder from above

  RETURN

29.25 * 1.8 + 32 = 84.65° F

Cannot multiply with decimal numbers (1.8).



.8 * 256 = 204.8 (drop decimal)



204 / 256 = .796875



= 1.796875 (close as possible to 1.8)

$01CC


01 represents the whole number 1


CC represents the 204 / 256



Multiplying with the */ operator with will give me a value = to multiplying by 1.796875

Variables used in this subroutine:  theTemp, cRem

Constants used in this subroutine:  slope

� 59 binary number before bit shift


� 29 binary number after bit shift


� Slope is a constant 16


� cRem = 8 in this example





